SWOT INSTITUTE
3-DIMENSIONAL GEOMETRY
XI-TEST

4 Marks Questions each.

1.
2.

Show that the points (-2, 3,5), (1, 2, 3) and (7, 0, 1) are collinear.

Verify :

(0, 7, 10), (-1, 6, 6) and (-4, 9, 6) are the vertices of a right angled triangle.

Given that P(3, 2, -4), Q(5, 4, -6) and R(9, 8, —10) are collinear. Find the ratio in which Q
divides PR.

Find the ratio in which the YZ-plane divides the line segment formed by joining the points
(-2, 4, 7)and (3, -5, 8).

Using section formula, show that the points A(2, -3, 4), B (-1, 2, 1) and C [O,%,Z) are

collinear.
Find the coordinates of the points which trisect the line segment joining the points P(4, 2, —6)
and Q(10, -16, 6)
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